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I (a) Differentiate Primary and secondary market [02]
[03 CX )5 .3

(b) A mutual fund collected Rs 75,00,000 by issuing Rs 750,000 units of Rs 10 each. +03]
The amount has been invested in different securities. The market value of these
securities is Rs 10,000,000 and the mutual fund has a liability of Rs 600,000.

Calculate the NAV of the fund.
A mutual fund has a NAV of Rs 10.60 in the beginning and Rs 10.90 at the end

of the period. Calculate the return of the mutual fund. Calculate the return O.f~ the
mutual fund , when the dividend is Rs 1.50 and there is a capital gain 0.50 paisa.

(¢) Mr Anand is having unit in mutual fund for the past 3 years. He wants to evaluate [08] CO5 3
its performance by comparing it to the market.
LParticulars X Y
Return 70.60 41.40
{ c 41.31 19.44
Rf 12
I B ’ (B
Find out the sharpe and Treynor’s indices, comment on it.
2a) What is a BSE Sensex [02] | CO4 | L1
[06] | CO4 L4

(b) Explain the functions of stock exchange

c) Anand owns Rs 1000 face value of bond with 5 years to maturity. The Bond has [04+04 (O3
an annual coupon of Rs 75. The bond is currently priced at Rs 970. Given an ]
approximate discount rate of 10%. Should Anand hold or sell the bond

What is the value of the bond if Rs 100 is the par value of bond bearing a coupon
rate of 12% will mature after 5 years and the discount rate is 15%.

3 (a) Define derivative and list its types [02] | CO1 | L2
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®) Discuss the methods of floating new issues . Explain in detail [l T3
(©) Data for 2 mutual funds and 1 market portfolio is given. Assume a risk free rate [08] ¢ 05 '
of 4%,
Portfolio Returns % | 6% p e -
DSP Merril Lynch | 22 10 1.21 % - .
15 6 0.75
BSE Sensex 18 8 1 o
Evaluate the Portfolio using Sharpe’s, Treynor’s and Jensen’s measures
Part B - Compulsory (01*08=08 marks) . —
C03 %

4 a)Calculate the current yield from the following data
A bond with par value of Rs 1000
It bears a coupon rate of 12%
The bond maturity period is after 10 years
Its market selling price is Rs 950.
b) Prem is considering the purchase of a bond currently selling at Rs 878.5 0.The[04+04 CO3 L5
bond has 4 years to maturity, with a face value of Rs 1000 and 8% coupon rate. ]
The next annual interest payment is due after one year. The required rate. of

return is 10%. Calculate:
The intrinsic ( Present value) of the bond. Should Prem buy the bond?

Calculate YTM.
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